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Question 1

What do we get when 38.9782 is
rounded off up to 4 significant
figures ?
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Question 2

Determine the value of A* f ( x)
wheref(x )=(5x+2)(x—2)(x+1)
(4 x— 1) and the difference is 1.
f(x)=05x+2)(x—-2)(x+1)(4x—-
1) 933 w@Es "EL (A AYf (x)aF
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Question 3

Using the following table,
determine the value of f (2.8 ):
X|0|1({2 |3
y|1l2]11]3a

g o SR TeTE E f(2.8) a7

Question 4

Which interpolation formula can be
used for unequally spaced
interpolating points xg, X1, <., Xn ?
TS A8 X0, X1, covnee. , Xn THETS]
A W (T SR A S ]
BT 2

Question 5

Using Divided Difference formula,
find the root of the equation x*— sin
x=0 lying in the interval (0.8, 0.9)
correct up to 4 significant figures.
e SR TTE e 2

X2 —sinx=0 FAPEA0S( 0.8, 0.9) TP
TETE SIO% 517 AT IF THE Amg A
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Question 6
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What are the degrees of precision of
the formulae for numerical
integration—Trapezoidal rule,
Simpson’s 1/3 rule & Weddle's rule
respectively ?
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Question 7

Find a real root of the equation e*—
3 x =0 lying between 1 and 2 correct
up to two significant figures using
Bisection method.

TS T&e I@T FE e*-3x=0
wiesley (I 9799 /9 1% 2-99
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Question 8

Using the method of Regula-falsi,
find a real root of the equation x?
+2%—2 =0 correct up to 4 significant
figures.
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Question 9

State the condition of convergence
of Iteration method of numerical
solution of equation.
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Question 10

What s the condition of
convergence of Newton-Raphson
method of solution of an equation
f{x)=07?

f(x)=05fa¢s i SENES
[T eHA TRies AETArE TSt
&2

Question 11

Find the roots of the equation tan x
+x =0 by Newton- Raphson
method, correct up to 3 significant
figures.

FIEEHaTwNE THe TES TE tan X
+x = 0Hieadba Jwef R s,
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Question 12



What is the inverse A of a square
matrix A ?

@@ & e A-9F T19 WiEE
FE IE 7

Question 13

Using iteration method single time
for finding eigen values of a matrix
numerically, what do we get?

A9 TERRE TRe S@E FE
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Question 14

Write the names of the methods of
solving system of linear equations
numerically.

THOST i |

Question 15

Find the value of v (0.02 ) correctup to 4
decimal points from the differential
equationdy/dx=x>+v,y (0) = 1taking
steplength h = 0.01 using Euler's
formula.

oFENEs THfes WEW dy/dx=x?+y,

v (0) = 19@%a Jaead @@ y (0.02 )37
WA =AY T2 BE TIE A RGN
519 == h=0.01 |

Question 16

Write the approximate number after rounding off the following number correct up to 4 significant figures 0.0056812.

0.0056812 4MfG 4 6 significant figure *1<(® A3 Y|

Question 17

If x = 2.11, y = 4.15, Ax = 0.005,
Ay = 0.001 then calculate the relative
error of x + y.

frx = 2.11, y = 4.15, Ax = 0.005,
Ay = 0.001 78 55 x + y 97 7= F6cT

Question 18

Find f(2.8) from the following table
X 0 1 2 3
f(x) 1 2 11 34

ey R i £(2.8) T b T
X 0 1 2 3
f | 1 2 11 | 34




Question 19

Find the value of f(0) using Lagrange
interpolation

¥ -1 —2 2 4
fx) | -1 —9 11 69
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Question 20

For three equidistance point xg, X1, X
and y; = f(x;),i =0,1,2. Find the
value of yj ?

ol STt (3 X, g, X T Yy =
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Question 21

Find the error of Trapezoidal rule?

BIPIGIC Stad wfod AR TS 2

Question 22

Find the degree of Precision of Simpson

% method.

1
T ST S0E A FS?

Question 23

What is the error of a root in n-th step due to bisection method?
TG AgE AT N- O COLP0Y =h]
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Question 24

What is condition of convergence in fixed point iteration method?

N HANF Tl og AGSRT 97 *1S F 2

Question 25

Find the positive root of x* — 9x +

1 = 0, lying in [0,1] using iteration

method.

x% = 9x + 1 = 0 wHeawE wEe T
7 o e (16 [0, 1] 97 w0y =i
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Question 26

What is the condition of convergence of Newton -Raphson method?

Newton Raphson H&f&d SIS 9 *1S 7

Question 27

Find the Eigen values of the following

matrix
8 -6 2
2 —4 3
8 -6 2
-6 7 -
2 -4 3
Question 28

Solve the following equations by Gauss

method:

x+3y+Z=5
x—¥+tz=-1
x+2y+3z=2

ST T TS T AN T 7

x+3y+2=5
2Zx—y+z=-1
x+2y+3z=2

Question 29

When the Gauss? Seidal method is applicable if the coefficient matrix is
A=lay],,,

STGS FIRCGH Vaf® S SATAGT X(F, T =201 WEH
A=ay] ..

Question 30

Find the value of y(0.04) from this
differential equation by Euler method

%4.;;;: o where, x =0, y=1,
h=0.02

2z v(0.04) a7 7= g Faem

a2 = = = =
dx+y—0=w=r, x=0 y=1, h=
0.02



